Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

Ergénze die fehlenden Steigerungsformen dieser Adjektive:
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am kaltesten

am altesten

am neusten

am strengsten

am hartesten

am dunkelsten

am schlausten

am sauersten

V

am festesten

am frechsten

am kihlsten

am meisten

V

am dinnsten
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am schlechtesten >
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Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

> => < am kaltesten

> => < am altesten

> => < am neusten

> => < am strengsten

> => < am hartesten

> => < am dunkelsten

> => < am schlausten

> => < am sauersten

> => < am festesten

> => < am frechsten

> => < am kihlsten

> => < am meisten

> => < am diunnsten
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Losungen
kalt > => < kalter
alt > => < alter
neu > => < neuer

streng > => < strenger
hart > => < harter
dunkel > => < dunkler
schlau > => < schlauer
sauer > => < saurer
fest > => < fester
frech > => < frecher
kahl > => < kihler
viel > => < mehr
didnn > => < dinner
schlecht > => < schlechter
einfach > => < einfacher

> => < am schlechtesten >

> => < am einfachsten >
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